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Read the passage very carefully and answer the questions.
Good Med Abroad Is Good Med fir Home

The directorate General of Foreign Trade (DGFT) has made 1t mandatory for all cough syrup exporters to have
their product tested and certified for quality at specified government laboratories before shipping out export
orders. This 1s welcome. It will begin to repair the reputational damage over alleged Indian cough syrup-
related deaths in some countries last year. Safeguarding quality cannot be limited to some products or to
exXports.

Ensurmng quality 1s the Central Drugs Standard Control Organization's (CDSCO) responsibility, not DGFT's
Setting norms for exports 1s like applying a band-aid to a wound that requires stitches. CDSCO needs an
overhaul. In the current fragmented system. quality and standardization are casualties. A modern, Independent.
statutory regulatory system that has the capacity to provide oversight to an increasingly complex
pharmaceutical industry while protecting public health and patient rights 1s required. CDSCO 1s the non-
statutory regulator under the health ministry. It has no jurisdiction over State Drug Regulatory Authorities
(SDRASs) that are part of state health departments. Each regulatory body acts independent of the other. This
must change. The regulatory approach. too. needs to change. Shifting from an overwhelming focus on
manufacturing to public health requires putting a doctor in charge. and shifting the regulator with
multidisciplinary teams.

India 1s the third-largest pharma manufacturer, meeting 20% of global generic demand. The $41 billion
industry 1s estimated to grow further -$50-65 billion by 2025, and $120-130 billion by 2030. Ensuring all
Indian pharma products meets quality standards will help with public health both at home and abroad, while
growing India's pharma footprint.

Sub questions

Question Number : 1 Question Id : 68634022676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CDSCO stands for :

1. Center for Drugs Taste Control Organisation
2. Center for Drum Taste Control Organisation
3. Center for Drugs Taste Connection Organisation

4. Central Drugs Standard Control Organisation

Options :

68634089601. 1
68634089602. 2
68634089603. 3
68634089604. 4

Question Number : 2 Question Id : 68634022677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Synonym or the term 'Overhaul’

1. Overhear

2. Examine
3. Excessive growth
4. Overexpose

Options :

68634089605. 1
68634089606. 2
68634089607. 3
68634089608. 4

Question Number : 3 Question Id : 68634022678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph whose duty 1s to ensure quality of the drugs in India ?
1. CDSCO
2. DGFT
3. CDMO

4. CDVO

Options :

68634089609. 1
68634089610. 2
68634089611. 3
68634089612. 4

Question Number : 4 Question Id : 68634022679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Generic medicines are :

1. Medicines used by high class people.

J

. Medicmes having old brand name.
3. Medicmes having no brand name.

4. Medicines meant for plants and animals only.

Options :

68634089613. 1
68634089614. 2
68634089615. 3

-

T —

collegedunia:

India’s largest Student Review Platform



63634089616. 4

Question Number : 5 Question Id : 68634022680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Billion means :
1. 10 Crore
2. 10 Million
3. 100 Million

4. 1000 Million

Options :

68634089617. 1
68634089618. 2
68634089619. 3
68634089620. 4

Question Id : 68634022675 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage very carefully and answer the questions.
Good Med Abroad Is Good Med fir Home

The directorate General of Foreign Trade (DGFT) has made 1t mandatory for all cough syrup exporters to have
their product tested and certified for quality at specified government laboratories before shipping out export
orders. This 1s welcome. It will begin to repair the reputational damage over alleged Indian cough syrup-
related deaths in some countries last year. Safeguarding quality cannot be limited to some products or to
exports.

Ensuring quality 1s the Central Drugs Standard Control Organization's (CDSCO) responsibility. not DGFT's
Setting norms for exports 1s like applyimng a band-aid to a wound that requires stitches. CDSCO needs an
overhaul. In the current fragmented system. quality and standardization are casualties. A modern. Independent.
statutory regulatory system that has the capacity to provide oversight to an increasingly complex
pharmaceutical industry while protecting public health and patient rights 1s required. CDSCO 1s the non-
statutory regulator under the health ministry. It has no jurisdiction over State Drug Regulatory Authorities
(SDRASs) that are part of state health departments. Each regulatory body acts independent of the other. This
must change. The regulatory approach. too. needs to change. Shifting from an overwhelming focus on
manufacturing to public health requires putting a doctor in charge. and shifting the regulator with
multidisciplinary teams.

India 1s the third-largest pharma manufacturer, meeting 20% of global generic demand. The $41 billion
industry 1s estimated to grow further -$50-65 billion by 2025, and $120-130 billion by 2030. Ensuring all
Indian pharma products meets quality standards will help with public health both at home and abroad, while

growing India's pharma footprint.
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Question Number : 1 Question Id : 68634022676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CDSCO stands for :
1. Center for Drugs Taste Control Organisation
2. Center for Drum Taste Control Organisation
3. Center for Drugs Taste Connection Organisation

4. Central Drugs Standard Control Organisation

Options :

68634089601. 1
68634089602. 2
68634089603. 3
68634089604. 4

Question Number : 2 Question Id : 68634022677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : ()

Correct Marks : 4 Wrong Marks : 1

Synonym or the term 'Overhaul’

1. Overhear
2. Examine
3. Excessive growth
4. Overexpose

Options :

68634089605. 1

68634089606. 2

63634089607. 3
68634089608. 4

Question Number : 3 Question Id : 68634022678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : ()

Correct Marks : 4 Wrong Marks : 1

According to this paragraph whose duty 1s to ensure quality of the drugs 1n India ?
1. CDSCO
2. DGFT
3. CDMO

4. CDVO
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Options :

68634089609. 1
68634089610. 2
68634089611. 3
68634089612. 4

Question Number : 4 Question Id : 68634022679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Generic medicines are

1. Medicmes used by high class people.
2. Medicines having old brand name.
3. Medicmes having no brand name.

4. Medicines meant for plants and animals only.

Options :

68634089613. 1
68634089614. 2
68634089615. 3
68634089616. 4

Question Number : S Question Id : 68634022680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Billion means :
1. 10 Crore
2. 10 Million
3. 100 Million

4. 1000 Million

Options :

68634089617. 1
68634089618. 2
68634089619. 3
68634089620. 4

Sub-Section Number : 2
Sub-Section Id : 686340738
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634022681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Pick out the meaning of the underlined word mn the following sentence:

He 1s done for.

1. revived

[

. rumed

3. glorified

4. encouraged

Options :

68634089621. 1
68634089622. 2
68634089623. 3
68634089624, 4

Question Number : 6 Question Id : 68634022681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of the underlined word mn the following sentence:

He 15 done for.

l. revived
2. rumned

3. glorified

4. encouraged

Options :

68634089621. 1
68634089622. 2
68634089623. 3
68634089624. 4

Question Number : 7 Question Id : 68634022682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : ()

Correct Marks : 4 Wrong Marks : 1
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Rearrange the following parts of a sentence to make a meaningful sentence.

P. much as a common

Q. love. friendship and respect

R. do not unite people as

S. hatred for something

Choose the correct answer from the options given below:
1S, PR, Q
2.Q.S,R. P
32O SR

4. Q.R.P.S

Options :

68634089625. 1
68634089626. 2
68634089627. 3
68634089628. 4

Question Number : 7 Question Id : 68634022682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the following parts of a sentence to make a meaningful sentence.

P. much as a common

Q. love. friendship and respect
R. do not unite people as

S. hatred for something

Choose the correct answer from the options given below:

1.S.P.R. Q
2.Q.S.R.P
3.P.Q.S.R

4. Q.R.P.S

Options :

68634089625. 1
68634089626. 2
68634089627. 3
68634089628. 4
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Question Number : 8 Question Id : 68634022683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

[dentify the part of speech of the underlined word 1n the following sentence.

You are paying less attention to your studies than you used to do.
1. Noun
2. Pronoun
3. Verb
4. Adjective

Options :

68634089629. 1
68634089630. 2
68634089631. 3
68634089632. 4

Question Number : 8 Question Id : 68634022683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

[dentify the part of speech of the underlined word in the following sentence.

You are paymng less attention to your studies than you used to do.

1. Noun

2. Pronoun
3. Verb

4. Adjective

Options :

68634089629. 1
68634089630. 2
68634089631. 3
68634089632. 4

Question Number : 9 Question Id : 68634022684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Choose the passive voice of the following sentence.

She looks after the child.
1. The child are looked after by her.

2. The child were looked after by her.

3. The child 1s looked after by her.

4. The child looks after her.

Options :

68634089633. 1
68634089634. 2
68634089635. 3
68634089636. 4

Question Number : 9 Question Id : 68634022684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the passive voice of the following sentence.

She looks after the child.
1. The child are looked after by her.

2. The child were looked after by her.

3. The child 1s looked after by her.

4. The child looks after her.

Options :

68634089633. 1
68634089634. 2
68634089635. 3
68634089636. 4

Question Number : 10 Question Id : 68634022685 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Choose the one word for the followmg:
"Possessmg unlimited powers."

1. Omniscient

2. Omnipotent

3. Omnipresent

4. Omnicompetent

Options :

68634089637. 1
68634089638. 2
68634089639. 3
68634089640. 4

Question Number : 10 Question Id : 68634022685 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the one word for the following:
"Possessing unlimited powers."

1. Omniscient

2. Omnipotent

3. Omnipresent

4. Omnicompetent

Options :

68634089637. 1
68634089638. 2
68634089639. 3
68634089640. 4

Question Number : 11 Question Id : 68634022686 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Who among the following was an Indian astronomer. mathematician and astrologer who lived i Ujjain m the

6 century AD and was one of the nine jewels (Navratnas) of the court of legendary ruler Yashodharman
vikramaditya of Malwa?

1. Bhaskaracharya
2. Gotam Mumi
3. Ishwarakrishna

4. Varahamihira

Options :

68634089641. 1
68634089642. 2
68634089643. 3
68634089644. 4

Question Number : 11 Question Id : 68634022686 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Who among the following was an Indian astronomer, mathematician and astrologer who lived i Ujpjain n the

6™ century AD and was one of the nine jewels (Navratnas) of the court of legendary ruler Yashodharman
vikramaditya of Malwa?

1. Bhaskaracharya
2. Gotam Muni
3. Ishwarakrishna

4. Varahamihira

Options :

68634089641. 1
68634089642. 2
68634089643. 3
68634089644. 4

Question Number : 12 Question Id : 68634022687 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Indian Athlete to win Olympic Gold Medal for India 1s

1. P.T. Usha
2. Vijendra Singh
3. Neeraj Chopra

4. P.V. Smndhu

-
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Options :

68634089645. 1
68634089646. 2
68634089647. 3
68634089648. 4

Question Number : 12 Question Id : 68634022687 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

The first Indian Athlete to win Olympic Gold Medal for India 1s
1. P.T. Usha
2. Vyjendra Singh

3. Neeraj Chopra

4. P.V. Sindhu

Options :

68634089645. 1
68634089646. 2
68634089647. 3
68634089648. 4

Question Number : 13 Question Id : 68634022688 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

The Milk produced during the inmitial few days of 'lactation’ 1s called :
1. Antrum

2. Colostrum

3. Fulcrum

4. Cholesterol

Options :

68634089649. 1
68634089650. 2
68634089651. 3
68634089652. 4

Question Number : 13 Question Id : 68634022688 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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The Milk produced during the initial few days of 'lactation’ 1s called :

1. Antrum
2. Colostrum

3. Fulerum

4. Cholesterol

Options :

68634089649. 1
68634089650. 2
68634089651. 3
68634089652. 4

Question Number : 14 Question Id : 68634022689 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The caves and rock-cut temples at Ellora belong to which of the following religion(s)?

A. Confucianism
B. Jamism

C. Buddhism
D. Hindu

Choose the correct answer from the options given below:

1. A. B and D only
2.B. CandD only
3. Cand D only

4. D only

Options :

68634089653. 1
68634089654. 2
68634089655. 3
68634089656. 4

Question Number : 14 Question Id : 68634022689 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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The caves and rock-cut temples at Ellora belong to which of the following religion(s)?

A. Confucianism
B. Jamism

C. Buddhism
D. Hindu

Choose the correct answer trom the options given below:

1. A. B and D only
2.B.Cand D only
3. C and D only

4. D only

Options :

686340896353. 1
68634089654. 2
68634089655. 3
68634089656. 4

Question Number : 15 Question Id : 68634022690 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which of the following constitute the electoral college for electing the President of India?

A. Elected members of Lok Sabha

B. Elected members of the Legislative Assembly of each state
C. Elected members of the Legislative Council
D. Elected members of Rajya Sabha

Choose the correct answer from the options given below:
1.A.B and D only
2. A. CandD only
3.B. C and D only

4. A and B only

Options :

68634089657. 1
68634089658. 2
68634089659. 3
68634089660. 4

Question Number : 15 Question Id : 68634022690 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Which of the following constitute the electoral college for electing the President of India?

A. Elected members of Lok Sabha

B. Elected members of the Legislative Assembly of each state
C. Elected members of the Legislative Council

D. Elected members of Rajya Sabha

-

Choose the correct answer trom the options given below:

1. A. B and D only
2.A. CandD only
3.B.C and D only

4. A and B only

Options :

68634089657. 1
68634089658. 2
68634089659. 3
68634089660. 4

Question Number : 16 Question Id : 68634022691 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

In a row of students. the position of Vikas from the left side of the row 1s 18™ and the position of Vikas from
the right side of the row 1s 38™ Find the total number of students in the row?

k.33

!-...J'
LN
)

Options :

68634089661. 1
68634089662. 2
68634089663. 3
68634089664. 4

Question Number : 16 Question Id : 68634022691 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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In a row of students. the position of Vikas from the left side of the row 1s 18™ and the position of Vikas from

the right side of the row 1s 38" Find the total number of students in the row?

-

!4
L
N

Options :

68634089661. 1
68634089662. 2
68634089663. 3
68634089664. 4

Question Number : 17 Question Id : 68634022692 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

[f for each number in the given options, all thewr digits are arranged in descending order, which among the

followimg corresponds to the smallest number?

1. 865

2. 468

4. 786

Options :

68634089665. 1
68634089666. 2
68634089667. 3
68634089668. 4

Question Number : 17 Question Id : 68634022692 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

[t for each number mn the given options, all their digits are arranged in descending order, which among the

followmg corresponds to the smallest number?

1. 865

-
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68634089665. 1
68634089666. 2
63634089667. 3
63634089668. 4

Question Number : 18 Question Id : 68634022693 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Statement : No country 1s absolutely self-dependent these days.
Conclusion : I. It 1s impossible to grow and produce all that a country needs.
I1. The people ot the country 1n general have become lazy.

1. Only II conclusion follows.

2. Both I and I conclusion follows.
3. Either I or IT follows.

4. Only I conclusion follows.

Options :

68634089669. 1
68634089670. 2
68634089671. 3
68634089672. 4

Question Number : 18 Question Id : 68634022693 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Statement : No country is absolutely self-dependent these days.
Conclusion : I. It 1s impossible to grow and produce all that a country needs.
I1. The people of the country in general have become lazy.

1. Only II conclusion follows.

2. Both I and IT conclusion follows.

3. Either I or II follows.

4. Only I conclusion follows.

Options :

68634089669. 1
68634089670. 2
68634089671. 3
68634089672. 4

-
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Question Number : 19 Question Id : 68634022694 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Look at the series : 1224, 612, 204, 102, 34........ Which one of the following numbers should come next in the

series”

1. 18

Options :

63634089673. 1
68634089674. 2
68634089675. 3
68634089676. 4

Question Number : 19 Question Id : 68634022694 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Look at the series : 1224, 612, 204, 102, 34........ Which one of the following numbers should come next in the

series”

LW
a—
()

4. 15

Options :

63634089673. 1
68634089674. 2
68634089675. 3
68634089676. 4

Question Number : 20 Question Id : 68634022695 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Six friends Arun. Babita. Chandra. Dipika. Ekta and Faria are sitting 1n a row facing towards North. Chandra

1s sitting between Arun and Ekta. Dipika 1s not at the end. Babita 1s sitting immediate right to Ekta. Faria 1s not
at the right end. Who 1s at the immediate right of Dipila?

1. Arun
2. Babita
3. Chandra

4. Ekta

Options :

68634089677. 1
68634089678. 2
68634089679. 3
68634089680. 4

Question Number : 20 Question Id : 68634022695 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Six friends Arun. Babita. Chandra. Dipika. Ekta and Faria are sitting 1in a row facing towards North. Chandra

1s sitting between Arun and Ekta. Dipika 1s not at the end. Babita 1s sitting immediate right to Ekta. Faria 1s not
at the right end. Who 1s at the immediate right of Dipila?

1. Arun
2. Babita
3. Chandra

4. Ekta

Options :

68634089677. 1
68634089678. 2
68634089679. 3
68634089680. 4

Question Number : 21 Question Id : 68634022696 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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If the equation 3x% — 10x + 2p = 0 has equal roots then the value of p is -

Options :

68634089681. 1
68634089682. 2
68634089683. 3
68634089684. 4

Question Number : 21 Question Id : 68634022696 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

If the equation 3x* — 10x + 2p = 0 has equal roots then the value of p is -

Options :

68634089681. 1
68634089682. 2
68634089683. 3
68634089684. 4

Question Number : 22 Question Id : 68634022697 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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[f a certamn sum mvested on compound interest becomes 3 times 1n 4 years, then the no. of years in which this
sum will become 27 times at the same rate of interest 1s -

1. 16 years
2. 18 years
3. 15 years
4. 12 years

Options :

68634089685. 1
68634089686. 2
68634089687. 3
68634089688. 4

Question Number : 22 Question Id : 68634022697 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

[f a certamn sum mvested on compound interest becomes 3 times 1n 4 years, then the no. of years in which this
sum will become 27 times at the same rate of mterest 1s -

1. 16 years
2. 18 years
3. 15 years
4. 12 years

Options :

68634089685. 1
68634089686. 2
68634089687. 3
68634089688. 4

Question Number : 23 Question Id : 68634022698 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Two fair dice are thrown. The probability that the number of times the first dice exceeds 3 and that the second
exceeds 4 will be :

1. 2
6

2
- WLV’

(ad

|-

O

Options :

68634089689. 1
68634089690. 2
68634089691. 3
68634089692. 4

Question Number : 23 Question Id : 68634022698 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Two fair dice are thrown. The probability that the number of times the first dice exceeds 3 and that the second
exceeds 4 will be :

=
6

L2
|

-

|

§

4.3

O

Options :
68634089689. 1
68634089690. 2
68634089691. 3

68634089692. 4

Question Number : 24 Question Id : 68634022699 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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The average of 11 numbers 1s 52. The average of the first 6 numbers 1s 55 and the average of last 6 numbers 1s
49. The sixth number 1s :

1. 51

TV
Ly
(i

-
g~y
N

Options :

68634089693. 1
68634089694. 2
68634089695. 3
68634089696. 4

Question Number : 24 Question Id : 68634022699 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

The average of 11 numbers 1s 52. The average of the first 6 numbers 1s 55 and the average of last 6 numbers 1s
49. The sixth number 1s :

.31

!4
L
O

Y
L
2

4.

N
|

Options :

68634089693. 1
68634089694. 2
68634089695. 3
68634089696. 4

Question Number : 25 Question Id : 68634022700 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Two trains each of length 250 m start at the same time on two parallel tracks from pomt A and point B and
approached each other with speed of 36 km/'hr and 44 km/hr respectively. When they crossed each other. 1t was
found that one train has moved 40 km more than the other. The distance between A and B 1s :

1. 399.0 km
2. 400.0 km
3.3990.5 km

4. 400.5 km
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Options :

68634089697. 1
68634089698. 2
68634089699. 3
68634089700. 4

Question Number : 25 Question Id : 68634022700 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Two trams each of length 250 m start at the same time on two parallel tracks from pomnt A and point B and
approached each other with speed of 36 km/hr and 44 km/hr respectively. When they crossed each other. it was
found that one train has moved 40 km more than the other. The distance between A and B 1s :

1. 399.0 km
2.400.0 km
3.390.5 km

4. 400.5 km

Options :

68634089697. 1
68634089698. 2
68634089699. 3
68634089700. 4

Part B: Philosophy

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

686340450
2

Online
Mandatory
13

73

300

Yes

0

]
686340739
Yes

null

Question Number : 26 Question Id : 68634022701 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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What 1s the third law ot thoughts?
1. The principle of Identity
2. The principle of non-contradiction
3. The principle of excluded middle

4. The principle of hypothesis
Options :
68634089701. 1
68634089702. 2
63634089703. 3
68634089704. 4

Question Number : 26 Question Id : 68634022701 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

fagR &1 gdig Raa | g?
1. drered Had
2. ATl HaH
3. oafde 91 gy
4. GRS 1 fHgid

Options :

68634089701. 1
68634089702. 2
68634089703. 3
68634089704. 4

Question Number : 27 Question Id : 68634022702 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
The Ethics of 'Triratna’ belongs to

1. Jamnism

2. Buddhism

3. Vedanta

4. Mimamsa
Options :
68634089705. 1
68634089706. 2
68634089707. 3

63634089708. 4
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Question Number : 27 Question Id : 68634022702 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Hifqere & BRa foag gefada g2
1. oFYH
2. gigyH

3.dald

4. HIHTG
Options :
68634089705. 1
68634089706. 2
68634089707. 3
68634089708. 4

Question Number : 28 Question Id : 68634022703 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who 1s the founder of Utilitarianism?

1. Jeremy Bentham
2. Arnistotle
3. Immanuel Kant

4. Benedict Spinoza
Options :
68634089709. 1
63634089710. 2
68634089711. 3
63634089712. 4

Question Number : 28 Question Id : 68634022703 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

IUGIfIGIae & IRIYS S 82
1. OINHI §YH

2. IRE],
3. SHFT Ble

4, dAlSae AW

Options :
68634089709. 1
68634089710. 2
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68634089711. 3
68634089712. 4

Question Number : 29 Question Id : 68634022704 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
In Nyaya-Vaisesika systems. Svavyabhicara 1s

1. Ditferent reasons may prove ditferent conclusions
2. Same reason may prove same conclusion

3. Same reason may prove opposite conclusions

4. Ditferent reasons may prove same conclusion
Options :
63634089713. 1
68634089714. 2
68634089715. 3
63634089716. 4

Question Number : 29 Question Id : 68634022704 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

1] - AR Jonel H [WfiER -
1. faftra SR fafis Fsafal &1 gy o 9ad o |
2. JHH SR A Fsafagi $1 gfy @R gadi gl
3. 9O SR fau’id FAsafagl &1 gff o Iahar s
4. fausid R 99 gl o gy SR IHdr 3|

Options :

68634089713. 1
68634089714. 2
68634089715. 3
68634089716. 4

Question Number : 30 Question Id : 68634022705 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
'Contraposition’ 1s a process of

1. Conversion - Obversion - Conversion
2. Obversion - Conversion - Obversion
3. Conversion - Conversion - Obversion

4. Obversion - Obversion - Conversion
{Intinng *
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68634089717. 1
68634089718. 2
68634089719. 3
63634089720. 4

Question Number : 30 Question Id : 68634022705 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

yid-uRadT feaet te ufchar g2
1. 9RadH- widad-- aRkad-

3. URadH-gRad=-ufdad-

4. Yfdac-ufdad—-gRkad—

Options :

68634089717. 1
68634089718. 2
68634089719. 3

68634089720. 4

v

Question Number : 31 Question Id : 68634022706 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Vedanta 1s also known as

1. Veda
2. Sambhita
3. Purana

4. Upanmishad
Options :
68634089721. 1
68634089722, 2
68634089723. 3
68634089724. 4

Question Number : 31 Question Id : 68634022706 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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daT=d &1 39 919 -
1.dg

3. OQRIOT
4. 3UYS

Options :

68634089721. 1
68634089722. 2
68634089723. 3
68634089724. 4

Question Number : 32 Question Id : 68634022707 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Tgnoratio Elenchi' means

1. The appeal to emotion
2. Argument against the person
3. Missing the point

4. Appeal to torce
Options :
68634089725. 1
68634089726. 2
63634089727. 3
68634089728. 4

Question Number : 32 Question Id : 68634022707 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

TURRE o iR ffgam o1 rf giarg-
1. HIaTEHD qIY

- fad-favg b a

3. GeW-THI0-gY

(.

4. 9 Jd® Iy
Options :
68634089725 1
68634089726 2
68634089727. 3
63634089728. 4
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Question Number : 33 Question Id : 68634022708 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who 1s the tounder of the theory of Deontology?

1. Arnistotle
2.J.S. Mill
3. Plato

4. Immanuel Kant
Options :
68634089729. 1
68634089730. 2
68634089731. 3

63634089732. 4

Question Number : 33 Question Id : 68634022708 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Hifaemd & gfvomy FRue Rgid & SYS 1 82

1. 3RE
2. 91, U9, [Hq

3. el

4. QHILU P
Options :
68634089729. 1
68634089730. 2
68634089731. 3
68634089732. 4

Question Number : 34 Question Id : 68634022709 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
What 1s the permanent reality according to Thales?

1. Atom

2. Arr

3. Fire

4, Water
Options :

68634089733. 1
63634089734. 2
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68634089735. 3
68634089736. 4

Question Number : 34 Question Id : 68634022709 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

U & IR Wl aRdfdddl o1 8?2

1. TRHT[
dig
3. 3

4. ol
Options :
68634089733. 1
68634089734. 2
68634089735. 3

68634089736. 4

~J

Question Number : 35 Question Id : 68634022710 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who talked about 'Being qua Being'?

1. Plato
2. Arnistotle
3.J.S. Mill

4. John Locke
Options :
68634089737. 1
68634089738. 2
68634089739. 3

63634089740. 4

Question Number : 35 Question Id : 68634022710 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

'HIKTd- IH- 3Rda@ & [d9g | g+ 99w
1. el

IRE]
3.90. U9, [Hd

rJ

4. S AP
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Options :

68634089737. 1
68634089738. 2
68634089739. 3
68634089740. 4

Question Number : 36 Question Id : 68634022711 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Metaphysics 1s related to

1. Reality

2. Ideas
3. Sense-perceptions

4. Beliets
Options :
68634089741. 1
68634089742, 2
68634089743. 3

68634089744. 4

Question Number : 36 Question Id : 68634022711 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

1. ARGl
2. [d9R
3. Siad- |lY
4. fayr™

Options :

68634089741. 1
68634089742, 2
68634089743. 3

63634089744. 4

Question Number : 37 Question Id : 68634022712 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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'Rta’ means
1. Gross elements
2. Consciousness
3. Subtle elements

4. Moral order of the Universe
Options :
68634089745. 1
68634089746. 2
68634089747. 3

63634089748. 4

Question Number : 37 Question Id : 68634022712 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Bd 9§ 4fTd -

1. d dea

2. gl

3. §&i da

4. RIS DI Afdd gardT
Options :
68634089745, 1
68634089746. 2
68634089747, 3
68634089748, 4

Question Number : 38 Question Id : 68634022713 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who said 'Esse est Percip1'?

1. John Locke
2. Gotlab Frege
3. George Berkeley

4, Immanuel Kant
Options :
68634089749, 1
68634089750. 2
68634089751. 3
68634089752. 4
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Question Number : 38 Question Id : 68634022713 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

o % RIYYT {9+ Hel Ul

1. S4 Al
2. Ticdd [Tl
3. Oflol 9§ d

4. QA1 Pl
Options :
68634089749. 1
68634089750. 2
68634089751. 3
68634089752. 4

Question Number : 39 Question Id : 68634022714 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
"Pitaka’ 1s the collection of teachings of

1. Samkhya Philosophy
2. Nyaya Philosophy
3. Jamna Philosophy

4. Buddhist Philosophy
Options :
683634089753. 1
68634089754, 2
68634089755. 3
68634089756. 4

Question Number : 39 Question Id : 68634022714 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
foee fegs! fRiansi o1 3ug @

1. i gxH

g &Y
3. 919 g%H
4. §1G &%

Options :

68634089753. 1
63634089754. 2

o
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68634089755. 3
68634089756. 4

Question Number : 40 Question Id : 68634022715 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Conversion of "All men are mortal” 1s

1. No men are mortal

J

. Some men are mortal
3. Some mortal beings are men

4. No mortal beings are men
Options :
63634089757. 1
68634089758. 2
68634089759. 3
63634089760. 4

Question Number : 40 Question Id : 68634022715 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

FHI ofed THR 8" T IRGdH &-
1. DIz 19 %R 7ol B
2. P8 I AR B

3. 9 AR Uit A B |
4. D5 YR WV 599 -5 5|

Options :

68634089757. 1
68634089758. 2
68634089759. 3
68634089760. 4

Question Number : 41 Question Id : 68634022716 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
'Catuskotivinirmaya’' 1s the theory ot

1. Madhyamika School
2. Yogacara School
3. Vijnanavada

4. Svatantra Vijnanavada
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Options :

68634089761. 1
68634089762. 2
68634089763. 3
68634089764. 4

Question Number : 41 Question Id : 68634022716 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
aqsplicia-HT foae Rgid g

1. H1418S JUay

2. GRTHER 99eg

3. [a3HaTE

4. WWa4- [ayHdIe
Options :
68634089761, 1
68634089762, 2
68634089763. 3
68634089764. 4

Question Number : 42 Question Id : 68634022717 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
How many figures are in syllogism

1. 2

2

3.4

4.5
Options :
68634089765. 1
68634089766. 2
68634089767. 3

63634089768. 4

Question Number : 42 Question Id : 68634022717 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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qrared ¥ fardH Pid 8i1d 82

4.5
Options :
68634089765. 1
68634089766. 2
68634089767. 3

63634089768. 4

Question Number : 43 Question Id : 68634022718 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
What 1s the meaning ot 'Epistemology'?

1. Theory of Truth
2. Theory of Error
3. Theory of Knowledge

4. Theory of Innate Ideas
Options :
68634089769. 1
68634089770. 2
68634089771. 3
68634089772. 4

Question Number : 43 Question Id : 68634022718 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

FA-HHREr &1 T AT g 82
1. 90 &1 [zid
2. Af¢ &1 gid
3. I BT R
4. A9 f99Ri & fHgid

Options :

68634089769. 1
68634089770. 2
68634089771. 3
68634089772. 4
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Question Number : 44 Question Id : 68634022719 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
pP=dqd _ 5 s
1s the form ot

pl g
1. Modus Ponens
2. Modus Tollens
3. Hypothetical Syllogism

4. Inductive Logic
Options :
68634089773. 1
63634089774. 2
68634089775. 3
68634089776. 4

Question Number : 44 Question Id : 68634022719 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

POy L
- PI¥Y B-
pi..q

1. [AUTTHAD P arHMH

2. FuYTHD e AIH
3. Baai¥d grgareg

4. AMTHATHD db
Options :
68634089773. 1
68634089774. 2
68634089775. 3
68634089776. 4

Question Number : 45 Question Id : 68634022720 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
In which figure. Middle term 1s 1n predicate place in both the premises?

1. 1st figure
2. 2nd figure
3. 3rd figure

4. 4th figure
Options :
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68634089777. 1
68634089778. 2
68634089779. 3
63634089780. 4

Question Number : 45 Question Id : 68634022720 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

fpg 3fpfd § SHI TUYR a1l § 4e0d Ug fa8g ®IH d gidl g2

1. UUH MPid
2. Tgdig 3pid

3. JAIg SAPid
4. 9qY oMpfd

Options :

68634089777. 1
68634089778. 2
68634089779. 3
68634089780. 4

Question Number : 46 Question Id : 68634022721 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Capital Punishment is not acceptable in

1. Deterrent Theory
2. Preventive Theory
3. Retributive Theory

4. Retormative Theory
Options :
68634089781. 1
63634089782. 2
63634089783. 3
68634089784. 4

Question Number : 46 Question Id : 68634022721 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. GURTHD [{Gid
Options :
68634089781. |
68634089782. 2

63634089783. 3
63634089784. 4

Question Number : 47 Question Id : 68634022722 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who talked about 'Categorical Imperative'

1. Aristotle
2. Plato

3. Immanuel Kant

4. Socrates
Options :
68634089785. 1
68634089786. 2
68634089787. 3
68634089788. 4

Question Number : 47 Question Id : 68634022722 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

TRU& HOiT & 999 ¥ (94 9diarnr

1. 3RE]
2. el

3. SHFUA I

4. dPxId
Options :
68634089785. 1
68634089786. 2
68634089787. 3
68634089788. 4
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Question Number : 48 Question Id : 68634022723 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who wrote: 'An essay concerning human understanding’?

1. Rene Descartes

2. John Locke

3. David Hume

4. George Berkley
Options :
68634089789. 1
68634089790. 2
68634089791. 3
68634089792. 4

Question Number : 48 Question Id : 68634022723 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

T T B 884 i faaH ferat di
1.3 S®Icy

2. Gl diPp
3. 5lds 8gH
4, ST Sl

Options :

68634089789. 1
68634089790. 2
68634089791. 3

63634089792. 4

Question Number : 49 Question Id : 68634022724 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which theory talks about "Maximum happiness for the Maximum number of people'?

1. Utilitarianism

2. Deontology
3. Theory of Normative ethics

4. Virtue ethics
Options :
68634089793, 1
68634089794, 2

638634089795. 3
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63634089796. 4

Question Number : 49 Question Id : 68634022724 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

SifHar & § T & o Sifdsad U99ar & R | $H-91 Rgid 9ard1 g2

1. IYGIFTdEig
2. giRumg A4 arg
3. fFame Afdear & Rigid

4. Fe[uft Afdedr
Options :
683634089793. 1
68634089794, 2
68634089795. 3

63634089796. 4

Question Number : S0 Question Id : 68634022725 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
In Jainism, "Pudgala’ means

1. Form
2. Matter
3. Substance

4. Spirit
Options :
68634089797. 1
63634089798. 2
63634089799. 3
683634089800. 4

Question Number : S0 Question Id : 68634022725 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Sy § qea &1 U g1 8-

Onptions :
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68634089797. 1
68634089798. 2
63634089799. 3
63634089800. 4

Question Number : 51 Question Id : 68634022726 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who 1s the propounder of 'Mind-Body Dualism'?

1. Spinoza
2. Leibniz
3. Rene Descartes

4. Hume
Options :
68634089801. 1
68634089802. 2
68634089803. 3

68634089804. 4

Question Number : 51 Question Id : 68634022726 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

ARKTSH-TRR gdare’ & Yddd DI g2
1. RIS

NICIRE

A SWICH

1J

(aJ

4. A
Options :
68634089801. 1
68634089802. 2
68634089803. 3

683634089804. 4

Question Number : 52 Question Id : 68634022727 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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'"Panch-Mahavratas' 1s a practice of which of the following religions?

1. Jamnism
2. Buddhism

3. Yoga

T

4. Vedanta
Options :
68634089805. 1
68634089806. 2
68634089807. 3

63634089808. 4

Question Number : 52 Question Id : 68634022727 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Ug Aglad [hg ¥ &1 YT 62
1,99 4H

| e
3. 91T

4. Al
Options :
68634089805. 1
68634089806. 2
68634089807. 3
68634089808. 4

v

Question Number : S3 Question Id : 68634022728 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s a Heterodox system?

1. Carvaka
2. Samkhya
3. Vedanta

4. Mimamsa
Options :
68634089809. 1
68634089810. 2
68634089811. 3

63634089812. 4

-

T —

collegedunia:

India’s largest Student Review Platform



Question Number : 53 Question Id : 68634022728 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Fafafad § 9 $1H-31 e sgaaaddl 99a™ 8°
1. d1ald

2. g

3.d4ld

4. HIHTG
Options :
68634089809. 1
68634089810. 2
68634089811. 3
68634089812. 4

Question Number : 54 Question Id : 68634022729 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
The Critigue of Pure Reason 1s written by

1. Rene Descartes

2. Gotlob Frege
3. Bertrand Russell

4. Immanuel Kant
Options :
68634089813. 1
68634089814. 2
68634089815. 3

63634089816. 4

Question Number : 54 Question Id : 68634022729 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

g fopfe® 3w @R v foae gR1 fafEad 82
1.3 SWIcY

2. Tiedid TWhal

3. ¢S T

4. QHIHU DI
Options :
68634089813. 1
68634089814. 2
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68634089815. 3
68634089816. 4

Question Number : 55 Question Id : 68634022730 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
'Conversion by limitation' means

1. Both premise and conclusion have same quality
2. Both premise and conclusion have same quantity
3. Premise and conclusion have difterent qualities

4. Premuse and conclusion have difterent quantities
Options :
63634089817. 1
68634089818. 2
68634089819. 3
63634089820. 4

Question Number : SS Question Id : 68634022730 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

ORAd gRkad &1 ddd &-
1. YRGS 3R ([AH gl F G 707 8l g |
2. AYRATR 3R by g1 § g9 uRAT gidl 8|
3. YRATE 3R sy SF1 § 3. 3e T 707 il |
4. AMYRATE HR by GHI T 3e1-3e7 R BId1 B |

Options :

68634089817. 1
68634089818. 2
68634089819. 3
68634089820. 4

Question Number : 56 Question Id : 68634022731 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who said Perception’ 1s the only means of valid knowledge?

1. Jamnism

2

. Buddhism
3. Carvaka

4. Nyaya
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Options :

68634089821. 1
68634089822. 2
68634089823. 3
68634089824. 4

Question Number : 56 Question Id : 68634022731 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
aY 14 D1 31 had U 914 gial 5| fba- der up

1. oFYH
2. glgyH

3. 11D

4. g
Options :
68634089821. 1
68634089822. 2
68634089823. 3

63634089824. 4

Question Number : 57 Question Id : 68634022732 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who among the tollowing 1s the protounder of Non-violence?

1. Amartya Sen
2. M. K. Gandha
3. Ambedkar

4. R.N Tagore
Options :
68634089825. 1
68634089826. 2
68634089827. 3
68634089828. 4

Question Number : 57 Question Id : 68634022732 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

-

T —

collegedunia:

India’s largest Student Review Platform



3T & ufdures &H 82
1. A 99

UH. &, Ml

NS

3. AASH

4. 3R. TH. ¢TIR
Options :
68634089825. 1
68634089826. 2
68634089827. 3
68634089828. 4

Question Number : 58 Question Id : 68634022733 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Rene Descartes was a

1. French Philosopher
2. Dutch Philosopher
3. Spamish Philosopher

4. Greek Philosopher
Options :
68634089829. 1
68634089830. 2
68634089831. 3
68634089832. 4

Question Number : 58 Question Id : 68634022733 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
3 SWhIe Y 4U-

1. Wigrd gRifA®
R CARURED

3. WY qRifA®
4. G SIS

Options :

68634089829. 1
68634089830. 2
68634089831. 3
68634089832. 4
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Question Number : 59 Question Id : 68634022734 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which of the following represent Shankaracharya's philosophy?

1. Dvaita-dvaita
2. Advaita vada
3. Visistadvaita

4. Achintya Bheda-abheda
Options :
68634089833. 1
68634089834. 2
68634089835. 3
68634089836. 4

Question Number : 59 Question Id : 68634022734 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

P &b G BT PR B-
1. Gal-gd
2. 3fgddrg
3. fafpTgd
4. 3T U1

Options :

68634089833. 1
68634089834, 2
68634089835. 3
68634089836. 4

Question Number : 60 Question Id : 68634022735 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who said 'Cogito ergo Sum'?

1. John Locke
2. Bertrand Russell
3. Jeremy Bentham

4. Rene Descartes
Options :
68634089837. 1
68634089838. 2

63634089839. 3
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68634089840. 4

Question Number : 60 Question Id : 68634022735 Question Type : MCQ Option Shuftling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Pifore] T 99 fdg Fe1 U

1. Sl dlPp

2, S [T

3. ORHI §YH

4.3 S
Options :
68634089837. 1
68634089838. 2
68634089839. 3
68634089840. 4

Question Number : 61 Question Id : 68634022736 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
In Indian Ethical tradition '"Dharma’ means

1. Duty
2. Moral Principle
3. Wealth

4. Desire
Options :
68634089841. 1
68634089842, 2
68634089843. 3

63634089844. 4

Question Number : 61 Question Id : 68634022736 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

YR ATIRIRAT GRRT H ¢ &1 3 -

1. O

J

3R [<gid

-
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68634089841. 1
68634089842. 2
683634089843. 3
63634089844. 4

Question Number : 62 Question Id : 68634022737 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which proposition doesn't have any valid conversion?

1.LA
2. E
3:1

4.0
Options :
68634089845. 1
68634089846. 2
68634089847. 3

68634089848. 4

Question Number : 62 Question Id : 68634022737 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

fog ufagfca § @ig dv afkad 98l aldl 82

1. A

2. B
8

4.0
Options :
68634089845. 1
68634089846. 2
68634089847. 3

63634089848. 4

Question Number : 63 Question Id : 68634022738 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Which term 1s distributed in "Some tlowers are Beautitul"?
1. Only Subject
2. Only Predicate
3. Both Subject and Predicate

4. Neither Subject nor Predicate
Options :
63634089849. 1
68634089850. 2

68634089851. 3
68634089852. 4

Question Number : 63 Question Id : 68634022738 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

'$S B X 8ld o" H DIH I g A1 82
1. Pad I9Y
2. Bad [d9g
3. 39T 3R fadg g
4. A I T ol fagy

Options :

68634089849. 1
68634089850. 2
68634089851. 3
68634089852. 4

Question Number : 64 Question Id : 68634022739 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who wrote A Theory of Justice?

1. M. K. Gandhi

2. Ambedkar

3. John Rawls

4. Amartya Sen
Options :
68634089853. 1
68634089854. 2
63634089855. 3
63634089856. 4
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Question Number : 64 Question Id : 68634022739 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

TR TS Sie T g+ fordt 4o
1. UH. &, M4l

2. dSPR

RS IGEANE:]

4, A 9
Options :
68634089853. 1
68634089854. 2
68634089855. 3
68634089856. 4

Question Number : 65 Question Id : 68634022740 Question Type : MCQ Option Shuttling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who talked about "Eudemomnia'?

1. John Stuart Mill

2.1. M. Cop1
3. Jeremy Bentham

4. Arnistotle
Options :
68634089857. 1
68634089858. 2
68634089859. 3

63634089860. 4

Question Number : 65 Question Id : 68634022740 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTAYUIdIare 941 fhdd gRI DI T3 Ui
1. Sl x&géiﬁa
2. 315, TH. il
3. OIXHl dUH

4. SR
Options :
68634089857. 1
68634089858. 2
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68634089859. 3
68634089860. 4

Question Number : 66 Question Id : 68634022741 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Capital Punishment 1s not justified.
Reason R: Reformative theory of punishment does not accept capital punishment.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A

3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
68634089861. 1
68634089862. 2
68634089863. 3
68634089864. 4

Question Number : 66 Question Id : 68634022741 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
4 &l HYH ST 7T 8: U JHfHDHYH (ASSERTION A) & ¥ H fiRdd § dl GERT 3Udh ®RU[ (REASON R) & U H:

HHDYT (A) - JIG S TEYTd gl gidl o

®RU (R) : 8 DI GURTHD HGid JAES &l WIHR gl ddl ol

SWiad HY & Hdid 4, 41 feu U fGdedf & ¥ Ia8 Iugad IR &1 994 Difod
1. AR RS T8I & R R. A DI Y TR 8
2. A 3R R EH 981 € IR R. A P! ol AR el &

3. AGEl ¢ dfbI R eI 7S &
4. ATSI Tl iPTRTal o

Options :

68634089861. 1
68634089862. 2
68634089863. 3
68634089864. 4

Question Number : 67 Question Id : 68634022742 Question Type : MCQ Option Shuttling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
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Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Duty for the sake of duty 1s advocated by Immanuel Kant.
Reason R: Maximum happiness for the maximum number of people 1s advocated by J. S. Mill.

In the light of the above statements. choose the most appropriate answer from the options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
68634089865. 1
68634089866. 2
68634089867. 3
68634089868. 4

Question Number : 67 Question Id : 68634022742 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁ%ﬁmmﬁnm% Ud ATHS YT (ASSERTION A) & ¥U ¥ [1REad & d1 GO 39D PRUT(REASON R) & &1

AHTUBYT (A) - B DI & BT ducd & YU IHHU Hi< gRI fdhar 741 8|
PRI (R) : HfUHdq G H artl & e ifean yaad &1 99d= 9. vy, fid gri fear mar |
SWIdd $Y & 3cid |, Hd AT T fasadi & ¥ 9a9 Iugad IR &1 94 difoe

1. A 3R R Gl T8l § SR R. A DI Ug! AR &

2. A 3R R Gl 981 § SR R. A D1 ! o1 T8l o
3. AR g df R T T8l ©

4. AEgI Tgl & AP R Iol ©

Options :

68634089865. 1
68634089866. 2
68634089867. 3

63634089868. 4

Question Number : 68 Question Id : 68634022743 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements: One 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: All cats are wild creatures.

All horses are wild creatures.

All horses are cats--- 1s invalid.
Reason .. R: If all premises are true and conclusion 1s false the argument 1s mvalid.

In the hight of the above statements. choose the most appropriate answer trom the options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
68634089869. 1
68634089870. 2
68634089871. 3

63634089872. 4

Question Number : 68 Question Id : 68634022743 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

%ﬂ%ﬁﬁm fGU U B: Ud ATHSYT (ASSERTION A) & 7 H fA7REd & 1 U3 39 SRV (REASON R) & &1

AHHHYT (A) -G fafcaar st umfi 81
gt °rs Sivret Ui 51
gl urs fafceal §---- 3ide HYF B

@RI (R) - Gfc G4t MUYR $UT 9 § 99T SUHER 39d & dd do 3aY g
SWRIad HYH o 3HcllP H, Hid AU T f[dPpeul § U 999 Iugad 3R B 941 Difolg

1. A 3R R G 98l ¢ 3R R. A T Tg! ARSAT &

2. A SRR GHI 981 § IR R. A P! Tl URAT 81 ¢
3. AR R Af R O 6T B

4. A TE! 7ol g AP R TRl B

Options :

68634089869. 1
68634089870. 2
68634089871. 3
68634089872. 4
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Question Number : 69 Question Id : 68634022744 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One 1s labelled as Assertion A and the other 1s labelled as Reason R

Assertion A: (x)0x = ~[(3x)~0x]

Reason R: Propositions that are contradictories of which one must be true and other must be false.

In the light of the above statements. choose the most appropriate answer from the options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct

Options :

68634089873. 1
68634089874. 2
68634089875. 3
68634089876. 4

Question Number : 69 Question Id : 68634022744 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

%ﬁ%ﬁﬁmﬁr{w% % AfUBYT (ASSERTION A) & ¥U F fAfad & Il 93 393 PRUT (REASON R) & &4

MHPBYT (A) - (x)0x = ~[(3x)~0x]

PRI (R) : UGl ol oarurdl 8 [+ 3(a=g g1 Ue 9 i1 difeT ayl GExI 3a¥d &1 39d g1 9|
SWIad Y & Hdlld H, Hd AU U faweal § T a9 Iugad IR &1 994 Hifog

1. A SR R &I 981 § SRR, A D! Ug! ARAT 3

2. A 3R R &I 98 § SR R. A D] ! T -1l o
3. Agl § dfh1 R T8I 181 &

4. ATRI TRl g AfPTR el ©

Options :

68634089873. 1
68634089874. 2
68634089875. 3

63634089876. 4

Question Number : 70 Question Id : 68634022745 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements: One 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: pV q. vp/:. q1s vald

Reason R: A valid argument form 1n which one premise 1s a disjunction. another premise 1s the demal of the
two disjuncts and the conclusion is the truth of the other disjuncts.

In the light of the above statements. choose the most appropriate answer from the options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
68634089877. 1
68634089878. 2
68634089879. 3
68634089880. 4

Question Number : 70 Question Id : 68634022745 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁﬁfﬁmm fGU 70 3: Udh ATHSYT (ASSERTION A) & 4 H fAfEd & d1 83 39 SRUI(REASON R) & &1

AFfHUPYT (A) pva ~p/ - qdYBI

SR (R) : TP 34 db U Y foreH U 4R HY faeH B, TO1 YR $YH T [agadd! &1 SRIHl g aul
JUYER 31 fagad® &1 9 ¢

SWIad HY & el H, 41 [T MU fadedl & ¥ 969 Iugad IR I 98- Difolg
1. A 3R R I 9el § IR R. AP Ugl AR ©
2. A 3R R GHI T8l § AR R. A D! Yol ARAT 781 ©
3. ARl 8 Qi R TE1 el &
4. AGEI el g Afb1R WET @

Options :

68634089877. 1
68634089878. 2
68634089879. 3
68634089880. 4

Question Number : 71 Question Id : 68634022746 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements: One 1s labelled as Assertion A and the other 1s labelled as Reason R

Assertion A: Whenever there 1s smoke there 1s fire.

Reason R: According to David Hume. there is a constant conjunction between smoke and fire.

In the light of the above statements. choose the most appropriate answer from the options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
68634089881. 1
68634089882. 2
68634089883. 3

68634089884. 4

Question Number : 71 Question Id : 68634022746 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i &l By fGU 7T 8: T 3fHHYT (ASSERTION A) & ¥4 H [6iRgd & Tl GORI 39 BRUI (REASON R) & &U H:

AHUBYT (A) - Tl Y34l glaT &, Tal 7 8t o
RO (R) -SIdS 8gH & IR Y3 3R 471 & &l J U (Hyd 9919 8|
IWIad HYF & 3Haid H, Hid fGU T8 fadwel 7 T a9 Iugad IR &I 9894 Pifod

1. A 3R R I 9ol & R R. A DI Yol AR ©

2. A 3R R GHI T8l & IR R. A DI Hel R 6l o
3. AR § Qb R G ol ©

4. A G el § Afb-1R WEl 8

Options :

68634089881. 1
68634089882. 2
68634089883. 3
68634089884. 4

Question Number : 72 Question Id : 68634022747 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Benedict Spinoza talks about Monism.

Reason R: He said God 1s the only independent Reality.

In the light of the above statements. choose the most appropriate answer trom the options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
68634089885. 1
68634089886. 2
68634089887. 3
68634089888. 4

Question Number : 72 Question Id : 68634022747 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
i § $YA AU U 8: TP HHHYF (ASSERTION A) & U H {6iRgd 8 Il TEI 39D HRUI (REASON R) & Y H:

ATHBHYA (A) - S-S RUANT gddig & 9d] dd 6 |

@RI (R) - d4Tsde YA a1 ¥ {6 3241 51 U U1 W9dd dRdiddhdi o |

SWRIad HYF & 3l H, -id fGu Y faweul # 9 Ta9 Iugdd IR &I 99 Difelg
1. A 3R R G T8 § SR R, A & el Rl &
2. A 3R R 31 81 § 3R R. A BT Te! AT 781 &
3. ATEI ¢ AT R IS el &

4. Aol ol g AP R Uol o

Options :

68634089885. 1
68634089886. 2
68634089887. 3
68634089888. 4

Question Number : 73 Question Id : 68634022748 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The order ot the Sambhitas

A. Sama - Veda
B. Atharva - Veda
C.Rg - Veda

D. Yajur - Veda

Choose the correct answer from the options given below:
1.LA-B-C-D
2.D-C-B-A
3.C-A-D-B

4 B-D-A-C
Options :
68634089889. 1
68634089890. 2
68634089891. 3

63634089892. 4

Question Number : 73 Question Id : 68634022748 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

gigdrsii 1 3fd 1 ©-

A. grHag
B. JYddq
C. BIdg
D. gudq
19 fSU T fas el | ¥ el SR &1 994 BT
1 A= B -E«D
2. DaeBaA
3. € <A-DH
4. B-D-A:€
Options :

63634089889. 1
63634089890. 2
63634089891. 3
63634089892. 4

Question Number : 74 Question Id : 68634022749 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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The order of the Vedic Literature are

A. Sambhitas
B. Upanishads
C. Aranyakas
D. Brahmanas

Choose the correct answer from the options given below:
1.C-D-B-A
2.D-C-A-B
3JA-B-C-D

4 B-D-A-C
Options :
68634089893. 1
68634089894. 2
68634089895. 3

63634089896. 4

Question Number : 74 Question Id : 68634022749 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

afew Tife & Ifad Ha -

e
B. 3UHNG
C. ARUGDH

D. S0l
19 fSU T fas el | ¥ el SR &1 994 BT

1.C-D-B-A

2.D-C-A-B

3JA-B-C-D

4 B-D-A-C
Options :
68634089893. 1
68634089894, 2
68634089895. 3

68634089896. 4

Question Number : 75 Question Id : 68634022750 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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The order of the 4 figures in categorical syllogisms are

A.

o0

LN

D.

Choose the correct answer from the options given below:
1.B-C-D-A

2.A-B-C-D

3.B-D-C-A

4 A-C-D-B
Options :
68634089897. 1
68634089898. 2
68634089899. 3
68634089900. 4

Question Number : 75 Question Id : 68634022750 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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fFreunie Trare | 4 3MdHfasi & 4 6-

+d faUu 71U fasedi 1 9 98l IR &1 904 B
B0 D-A
5. K -

3.B-D-C-A

4 A-C-D-B
Options :
68634089897. 1
68634089898. 2
68634089899. 3
68634089900. 4

Question Number : 76 Question Id : 68634022751 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
The order of the 4 basic standard form categorical propositions are

A. Particular Affirmative
B. Universal Negative
C. Umiversal Affirmative
D. Particular Negative

Choose the correct answer from the options given below:
1. D-C-B-A
2.C-B-A-D
3JA-D-C-B
4. B-A-D-C
Options :
68634089901. 1
68634089902. 2

68634089903. 3
63634089904. 4

-

T —

collegedunia:

India’s largest Student Review Platform



Question Number : 76 Question Id : 68634022751 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Feurfee wfasidl d 9 4 MYRYd S & $HH ©-

A. AU WIHRTHD
B. a4l FuyTE®
C. Gdadl GHRIED
D. Al YYD

=1 QU U fadhedl # 9 el IR &1 99 Hifolv:

1. D-C-B-A

2.C-B-A-D

3JA-D-C-B

4. B-A-D-C

Options :

68634089901. 1
68634089902. 2
68634089903. 3
68634089904. 4

Question Number : 77 Question Id : 68634022752 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which among the following 1s the correct statement that represents the 1dea of Euthanasia?

A. It 1s about right to terminate one's life.

B. It 1s about controlling suicidal tendency among patients.

C. It 1s about allowing terminal patients to have natural death.
D. It 1s about state's control over the life of terminal patients.

Choose the correct answer from the options given below:

1. Aand D only
2. Aand C only
3. B and C only

4. B and D only
Options :
68634089905. 1
68634089906. 2
68634089907. 3
68634089908. 4
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Question Number : 77 Question Id : 68634022752 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Fafalad @ 9 &H 91 98 $YH @ 5 & [d9R &1 U¥dd HRdl 82

A. g5 3l aafdd gRT 319 Sita] &l THIW H3- & R | B
B. U8 HRIuil § TSl DI Ugid & g d R d g

C. g8 BRI &1 Wipfded g Bl SHfd UaH $34 d R 1 7
D. T8 < TR & it IR I & (GA0 P aR H g

14 fQU U fas i § O a1 3R &1 994 Hifore:
. PAAdATAD

2. PAAdATGC

3. Pad BTG C
4. PAABTID

Options :

68634089905. 1
68634089906. 2
68634089907. 3
68634089908. 4

Question Number : 78 Question Id : 68634022753 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Logical order of Quantification rules are

A. Universal Instantiation

B. Existential Instantiation
C. Existential Generalization
D. Universal Generalization

Choose the correct answer from the options given below:
1. A-B-C-D
2.C-B-A-D
3.D-A-C-B

4 A-D-B-C
Options :
68634089909. 1
68634089910. 2
68634089911. 3

63634089912. 4

Question Number : 78 Question Id : 68634022753 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 4 Wrong Marks : 1

gRmmre gl &1 difdes o1 ©-
A. JaoaTdl TP 0l

B. &I D eFIdIP Ul

C. H KIS GHIIHI]
D. gaaaTdt QrET Rl

19 QU 7T fasedi | ¥ el SR &1 994 BT

1. A-B-C-D

2.C-B-A-D
3.D-A-C-B

4 A-D-B-C
Options :
68634089909. 1
68634089910. 2
68634089911. 3

63634089912. 4

Question Number : 79 Question Id : 68634022754 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The order of the 4 valid means of Nyaya system are

A. Comparison

B. Perception

C. Verbal - Testimony
D. Inference

Choose the correct answer from the options given below:
1.D-A-B-C
2.B-D-A-C
3JA-B-C-D
4. C-A-B-D
Options :
68634089913. 1
63634089914. 2

63634089915. 3
63634089916. 4

Question Number : 79 Question Id : 68634022754 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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=TT 23 & 4 Y TTHTT BT P H -

A, JYHIH
B. &
C. RMe UHIU

D. A
41 feu U faedi # 4 el IR &1 I DIIU:

1.D-A-B-C

2.B-D-A-C
3JA-B-C-D

4. C-A-B-D
Options :
68634089913. 1
68634089914, 2
68634089915. 3
68634089916. 4

Question Number : 80 Question Id : 68634022755 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Desartes begins with doubt only to arrive at certainty of knowledge.

Statement II: Immanuel Kant accepts the possibility of an unknowable domain of the world beyond that ot
the knowable domain.

In the light of the above statements. choose the correct answer trom the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement I 1s true

Options :

68634089917. 1
68634089918. 2
68634089919. 3
68634089920. 4

Question Number : 80 Question Id : 68634022755 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ﬁ@fﬁﬂ:{mﬂﬂ%
HYF I SHIcY had I DI Hi%ddl R Ugd- & Tae 9 3RY Hdl g
HYF I1: SHFUT PI< 3% & [pal 33T &7 4 W G 77 &7 S GHG & WHR Hdl o

IWRiad HYH & 3Hclid . Hid fGU U fddedl § ¥ 9ad Iugdd IR &I 994 Bifod

1. PYF IR I Td o
2. FYF 1 3R 113 T ©

3. PYT1 T &, Al Y 11 3T ©

4. PYTI 39T B, AfbTHYF 19T B
Options :
68634089917. 1
68634089918 2
68634089919. 3
68634089920, 4

Question Number : 81 Question Id : 68634022756 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: J. S. Mill advocated the theory of Utilitarianism.
Statement II: Aristotle advocated the theory of Deontology.
In the light of the above statements. choose the correct answer trom the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true
Options :

68634089921. 1
63634089922. 2
63634089923. 3
68634089924. 4

Question Number : 81 Question Id : 68634022756 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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:ﬁ%ﬁﬁ?ﬂﬁ(‘ﬂﬂ%
$YF I J. 19, {7 1 IugifiaEae &1 9944 f[ear g
HYT I1: 3% - uRomE FRug fgia &1 gad= fear gl

IWRiad Y & 3Hclld . Hid faU U fddeul § ¥ 94 Iugdd 3R &l 994 Pifod

1. HYF IR IS 9d &
2. FYF 1 3R I SH 3T B

3. PUTI9A B AfpTpYT I 3Ed

4. PYTI 39T B, dfbTHYF 19T ©
Options :
68634089921. 1
68634089922, 2
68634089923, 3
68634089924 . 4

Question Number : 82 Question Id : 68634022757 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: In 'A' proposition only subject 1s distributed.

Statement II: In T' proposition no term 1s distributed.

In the light of the above statements. choose the correct answer trom the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true
Options :

68634089925. 1
63634089926. 2
63634089927. 3
68634089928. 4

Question Number : 82 Question Id : 68634022757 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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:ﬁ%ﬁﬁmﬁnﬂn%
Y I dhaigd 'A' H Had 339 &I A gldl o
Y II: dhardd I H dig Hi Ug &1 A1 T8l gidi 6|

IWRiad Y & 3Hclidb d. Hd fGU U fdwedl ¥ 99 Iugdd 3R &l 994 Pifod

1. HYF IR IS 9d &
2. FYF 1 3R I SH 3T B

3. PUTI9A B AfpTpYT I 3Ed

4. PYTI 39T B, dfbTHYF 19T ©
Options :
68634089925. 1
68634089926, 2
68634089927. 3
68634089928 4

Question Number : 83 Question Id : 68634022758 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: In the proposition "No students are Intelligent”. only subject term 1s distributed.
Statement II: In the proposition "No students are Intelligent". both subject and predicate terms are distributed.
In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true
Options :

68634089929. 1
63634089930. 2
63634089931. 3
68634089932. 4

Question Number : 83 Question Id : 68634022758 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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EIERARAIC A

HY I "B Ui faandf gfgum 81 8 9/ § dad I5%4 UG &I A1 83 o
HYT I "Dz M [Fendf efSam 781 8 arqa & I5xg ay1 fagy g1 ug & =1ftd g3 ol
IWRiad Y & el J, Hid fGU U fddbedl 9 Tad Iugad IR &I 949 DI

1. YF 1 3R I3 Gel e
2. YT 1 3R Il Tad o

3. DY 1 981 . Afb9 YT 11 Tad &

4. HYF 1 7Tdd ©. dfh- YT 11 Tol o
Options :
68634089929, |
68634089930, 2
68634089931, 3
68634089932, 4

Question Number : 84 Question Id : 68634022759 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: BARBARA' 1s a valid mood of 1st figure.
Statement II: 'CESARE' 1s a valid mood of 2nd figure.
In the light of the above statements. choose the correct answer trom the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true
Options :

68634089933. 1
63634089934. 2
63634089935. 3
68634089936. 4

Question Number : 84 Question Id : 68634022759 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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=1 gl dYA fGu U &:

Y I-'BARBARA' UYH HHR Bl UH a8 YR &

YT II- 'CESARE' §dIT THR & UH a8 PR &

IWRIad Y & 3Hclld H, Hiid faU U fddedl § ¥ 94 Iugdd 3R &l 994 Pifod

1. PYF 1 3R I a1 Jal &
2. YT 1 3R 11 1 Tad &

3. BYT 1 Jol . Al YT 11 7TAd ©
4. YT 1 7790 8, A dYF n IS 3

Options :

68634089933. 1
68634089934, 2
68634089935. 3
68634089936. 4

Question Number : 85 Question Id : 68634022760 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: "The Straw man" 1s a kind of Informal fallacy.
Statement II: One of the Informal fallacy 1s committed when force 1s relied on to win consent.
In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement Il are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true
Options :
68634089937. 1
68634089938. 2
68634089939, 3

63634089940. 4

Question Number : 85 Question Id : 68634022760 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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:ﬁ%ﬁﬁmﬁnﬂn%
HYF I'C 1 H9" SHIUIRS &Y &1 U UHR o
PYF II: AAUAIRG GY H T TP dd 8idl & 94 §d U @1 Al R AR dar gl

IWRiad Y & 3Hclidb d. Hd fGU U fdwedl ¥ 99 Iugdd 3R &l 994 Pifod

1. Y 1 3R 113 91 &
2. Y 1 3R 11 3HI Tad &

3. PYT 1 Yol 8. AfbT HYF 1 7Ted &

4. BYF 1 7Td ©, Afb PYT 11981 &
Options :
68634089937. 1
68634089938, 2
68634089939, 3
68634089940, 4

Question Number : 86 Question Id : 68634022761 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Ahimsa means non-violence.

Statement II: Ahimsa is one of the Mahamantra in Yoga Philosophy
In the light of the above statements. choose the most appropriate answer tfrom the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true
Options :

68634089941. 1
63634089942. 2
63634089943. 3
68634089944. 4

Question Number : 86 Question Id : 68634022761 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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YT 1 HgH DI Y GA I HAT B

HYA I1: 5T TF G BT U HgHA ¢ |

SWIad YA & e |, Hid faU 7T fadbeul H ¥ 9ad Iuge IR &1 944 Bifod

1. YT 1 3R 1131 el &
2. HYF [ 3R 11 3H1 Tad o

3. DY 1 el 8. Afch- dYF 11 7Tald ©

4. HYF17TAd ©. AP HYT 11 98T §

Options :

68634089941. 1
68634089942, 2
68634089943. 3
68634089944. 4

Question Number : 87 Question Id : 68634022762 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who among the following said that metaphysical statements are non-sensical?

A. Kant
B. Richard Rorty
C. Wittgenstein
D. A.J. Ayer
Choose the correct answer from the options given below:
1. B only
2. C only

3. D only

4. C and D only
Options :
68634089945, 1
63634089946. 2
68634089947. 3
68634089948. 4

Question Number : 87 Question Id : 68634022762 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Fafafad 7 9 fog oo & i da-Himra fFRds 72

A. PIC
B. R=s <t

c. faeTiee

b

D. T. O 3@R
e ST U [dp i H F el IR D1 99 DIOIT:
1. Pdd B

2. Had C

3. PddA D

4. %ad C ARD
Options :
68634089945, 1
68634089946. 2
68634089947, 3
68634089948 4

Question Number : 88 Question Id : 68634022763 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Naiyayikas are:

A. Epistemological Realists
B. Metaphysical Realists
C. Presentationists

D. Representationists

Choose the correct answer from the options given below:
1. Aand D only
2. B and D only

3. A.B and C only

4. A. B and D only
Options :
68634089949, 1
68634089950. 2
68634089951. 3
68634089952. 4

Question Number : 88 Question Id : 68634022763 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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A. 3T I gyrdaret
B. 3reaTfaIe gyrdare!

C. RIYHATG

DR IGIGEIGEIE
A [GU U [dh gl § ¥ ol IR &1 9d4 DI
1. Had A3RD

2. Hdd B AR D
3.9dd A.B3RC
4. Hdd A.B3RD

Options :

68634089949. 1
68634089950. 2
68634089951. 3
68634089952. 4

Question Number : 89 Question Id : 68634022764 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
The concept of 'Apurva’ - the unseen potency 1s associated to -

A. Advaita

B. Purva Mimamsa
C. Nyaya

D. Vaisesika

Choose the correct answer from the options given below:

1. Aonly

v

. B only
3. C only

4. D only
Options :
68634089953. 1
68634089954, 2
68634089955. 3
68634089956. 4

Question Number : 89 Question Id : 68634022764 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A. 3fgd

B. Jd HidiE
C. g

D. a8fRI&H

A< feu v Al d O et I9% BT 999 HIHOIU:

1. $dd A

2. Hdd B

3.Pad C

4.9dd D
Options :
68634089953. 1
68634089954. 2
68634089955. 3

68634089956. 4

Question Number : 90 Question Id : 68634022765 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which of the following are the titles of the books not authored by Sheila Rowbatham?

A. Women. Resistance and Revolution
B. Hidden from History

C. Past 1s before us

D. Sexual Politics

Choose the correct answer from the options given below:

1. A only

o

. D only

3. B only

4. C only
Options :
68634089957. 1
68634089958. 2
68634089959. 3
68634089960. 4

Question Number : 90 Question Id : 68634022765 Question Type : MCQ Option Shuttling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Frafafaa 7 9 oH-a1 Yiie giad Qe ey gR1 fad 718 81 80

A. Hiedl UIdRIY YT hifd
B. SideN d Uiwd

C. dId SAR IH& ©

D. giF® Iaffd

19 S T fasedl § T el SR &1 994 BIg:
1. Had A

2.Pdd D

3.PHdd B

4.Had C
Options :
68634089957. 1
68634089958. 2
68634089959. 3

68634089960. 4

Question Number : 91 Question Id : 68634022766 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Rational 1s Real and Real 1s rational" - who said this statement?

A. Hegel

B. Kant

C. Locke
D. Berkeley

Choose the correct answer from the options given below:

1. A only

o

. B only

3. C only

4. Aand D only
Options :
68634089961. 1
68634089962. 2
63634089963. 3
63634089964. 4

Question Number : 91 Question Id : 68634022766 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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T B aRdfaPdl & dYT aRAfaPdl 81 d@ & I8 $U g Hei?
A. B9

B. BIC
C.dld
D. §5d
i< feu e faseul ° I 98t ST T 999 DIIC:

1. $dd A

2. Pdd B

3.Pad C

4. Had AIJRD
Options :
68634089961. 1
68634089962. 2
68634089963. 3

68634089964. 4

Question Number : 92 Question Id : 68634022767 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which of the following pramanas (sources of valid knowledge) are accepted by Ramanuja?

A. Perception

B. Inference

C. Comparison

D. Verbal Testimony
E. Arthapatt:

Choose the correct answer from the options given below:

1. A. B.D only
2.A.B.C.Donly
3JALB.C.Dand E

4. A. B only
Options :
68634089965. 1
68634089966. 2
68634089967. 3
68634089968. 4

Question Number : 92 Question Id : 68634022767 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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FrafafEd & 3 SH-91 9= @1 ST 3 W) IH GRT W69 6-

A Uy
B. {THM
C. JUHIA

D. e HHIU]
E. yfgfy

+1d U 70 [ad gl # 9 ol IR &1 994 Diful:
1.%dd A.B.D
2.%dd A.B.C.D
3.%0d A.B.C.D 3RE

4. Pdd A.B

Options :

68634089965. 1
68634089966. 2
68634089967. 3
68634089968. 4

Question Number : 93 Question Id : 68634022768 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
The main characteristics of Liberal Democracy 1s

A. More than one political party freely competing for political power.
B. Political offices not contined to any priviledged class

C. Protection of Civil liberties

D. Independence of the Judiciary

Choose the correct answer from the options given below:

1. A.B. C and D only
2. A.B. Conly
3. A. B only

4. A only
Options :
68634089969. 1
68634089970. 2
68634089971. 3
68634089972. 4

Question Number : 93 Question Id : 68634022768 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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A. U@ 9 @ JoMide gd JeHide Qad oq Hfawaef @xd g |
B. JoiHfd® dratad fadl 9ufi 8q ifAd =8l sian

C. AR TadAd Bl YA

D. 1AYTicid] Bl WA |

e QU ¢ [d@ Ul # 9 Tl SR &1 99 DI
1. $ad A, B, C 3R D
2.%dd A.B.C
3.%dd A.B
4.Pad A

Options :

68634089969. 1
68634089970. 2
68634089971. 3
68634089972. 4

Question Number : 94 Question Id : 68634022769 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LIST I LIST 11
-- Madhyamika Schoo
B |Anyathakhyativada | II [Vedanta

) ' -akhvativada Nvava Philosophy
I:'l- Prabhakar Mimamsa

Choose the correct answer from the options given below:

1. A-I. B-11I. C-II. D-IV

2. A-IV. B-III. C-II. D-I

3. A-Il. B-IV. C-II1. D-I

4. A-IV. B-II. C-1. D-III
Options :
68634089973. 1
68634089974. 2
68634089975. 3
68634089976. 4

Question Number : 94 Question Id : 68634022769 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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fAgfafad faseal § 9 9ol IR &1 99 Difold -

1. A-I. B-IIl. C-II. D-IV

2. A-IV. B-III. C-II. D-I
3. A-II. B-IV. C-III. D-I

4. A-IV. B-11. C-1. D-III
Options :
68634089973. 1
68634089974. 2
68634089975. 3
68634089976. 4

Question Number : 95 Question Id : 68634022770 Question Type : MCQ Option Shuttling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LISTII
A. |Astanga-Yoga L.
A |
B |Tnratna | IT [Yoga Philosophy

Sapta-bhangi-nayz
D.|Kaivalya | IV. [Samkhya Philosophy

Choose the correct answer from the options given below:

1. A-Il. B-III. C-1, D-IV
2. A-IlL. B-1. C-II. D-IV
3. A-Il. B-1. C-IV, D-III

4. A-IV. B-II. C-III. D-I

Options :

68634089977. 1
68634089978. 2
68634089979. 3
68634089980. 4

Question Number : 95 Question Id : 68634022770 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 4 Wrong Marks : 1

Tl 1 BT YAl 11 H [HaH Do

fAafead fdeeai § 9 98l 3R &1 994 Difelu -
1. A-IL, B-III. C-L. D-IV
2. A-IIL B-I. C-II. D-IV

3. A-Il. B-1. C-IV. D-III

4. A-IV. B-II. C-III. D-I
Options :
68634089977. 1
68634089978. 2
68634089979. 3
68634089980. 4

Question Number : 96 Question Id : 68634022771 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LIST 1T
A |Advaita | I [Ramanujacharya
B. |Visistadvaita | II. [Madhvacharya

 C. [Dvaita-dvaita | III. [Shankaracharya
 D. [Sudha-dvaita | IV. [Vallabhacharya

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-II. D-I
2. A-L. B-III. C-IV. D-II
3. A-IIl. B-1. C-II. D-IV

4. A-II. B-1. C-III. D-IV
Options :
68634089981. 1
68634089982. 2
68634089983. 3
68634089984. 4

Question Number : 96 Question Id : 68634022771 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
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Correct Marks : 4 Wrong Marks : 1

Tl 1 BT YAl 11 H [HaH Do
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1. A-IIL. B-IV. C-II. D-I

2. A-1. B-III. C-IV., D-II
3. A-IIl. B-1. C-II. D-IV

4. A-11. B-1. C-1I1. D-IV
Options :
68634089981. 1
68634089982. 2
68634089983. 3
68634089984. 4

Question Number : 97 Question Id : 68634022772 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Match List I with List I

LIST 1 LIST 11
B |UniversalNegative JILET

Particular Affirmative| ITI. [AIlS is P
 D. [Particular Negative JIV.]JO

Choose the correct answer from the options given below:

1. A-Il. B-1. C-III. D-IV

2. A-IV. B-II. C-1. D-III

3. A-IIl. B-1. C-II. D-IV

4. A-I. B-1II. C-IV. D-III
Options :
68634089985. 1
68634089986. 2
68634089987. 3
68634089988. 4

Question Number : 97 Question Id : 68634022772 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
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Correct Marks : 4 Wrong Marks : 1

@Imiﬁtﬁﬂﬁfﬁ'ﬂﬂaﬂﬁm
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D PN FPRFB|IVJO

fHafeRad faweal d 9 Igl 3R &1 994 DIl -

1. A-Il. B-1. C-III. D-IV

2. A-IV. B-1I. C-I. D-III
3. A-IIl. B-1. C-II. D-IV

4. A-I. B-II. C-IV. D-III
Options :
68634089985. 1
68634089986. 2
68634089987. 3
68634089988. 4

Question Number : 98 Question Id : 68634022773 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST 1 LIST 11
Bertrand Russel
B [Tractatus [ IL |W.V O Quine

The Critique of Pure Reason
D |Appearance and Reality [ IV. | Immanual Kant

Choose the correct answer from the options given below:

1. A-I. B-11I. C-II. D-IV

2. A-IV. B-11. C-III. D-I

3. A-1lL. B-11I. C-IV. D-I

4. A-I1I. B-11. C-IV. D-I
Options :
68634089989. 1
68634089990. 2
68634089991. 3
68634089992. 4

Question Number : 98 Question Id : 68634022773 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

-

T —

collegedunia:

India’s largest Student Review Platform



Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-III. C-II. D-IV

2. A-IV. B-1I. C-III. D-I
3. A-Il. B-III. C-IV. D-I

4. A-I1l. B-1I. C-IV. D-I
Options :
68634089989. 1
68634089990. 2
68634089991. 3
68634089992. 4

Question Number : 99 Question Id : 68634022774 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LIST 1 LIST II
B. PohnLocke | II [Cogito ergo sum

George Berkeley| III. [Tabula Rasa
D. [David Hume |1V [Causality

Choose the correct answer from the options given below:

1. A-I. B-IIl. C-II. D-IV

2. A-Il. B-IV. C-III. D-I

3. A-Il. B-III. C-I1. D-IV

4. A-IV. B-II. C-III. D-I
Options :
68634089993. 1
68634089994. 2
68634089995. 3
68634089996. 4

Question Number : 99 Question Id : 68634022774 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
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Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-III. C-II. D-IV

2. A-II. B-IV. C-III. D-I
3. A-Il. B-III. C-1. D-IV

4. A-IV. B-II. C-III. D-I
Options :
68634089993. 1
68634089994. 2
68634089995. 3
68634089996. 4

Question Number : 100 Question Id : 68634022775 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I

LIST I LIST 11
A |Aristotle | I [Deontology
B [Kant |1 [Unlitarianism _

 D. [Bhagvad Gita

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV
2. A-IIl. B-1. C-II. D-IV
3. A-IV. B-II. C-III. D-I

4. A-II. B-IV. C-1. D-III
Options :
68634089997. 1
68634089998. 2
68634089999. 3
68634090000. 4

Question Number : 100 Question Id : 68634022775 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
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Correct Marks : 4 Wrong Marks : 1

Tt 1 7 g 1 @ e iR
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1. A-L B-IL C-IIL. D-IV
2. A-IIL B-1. C-IL. D-IV
3. A-IV. B-II. C-III. D-I

4. A-II. B-IV. C-1. D-III
Options :
68634089997. 1
68634089998. 2
68634089999. 3
68634090000. 4
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